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Dear friends choose the best answer for the following questions.
Y. Which is correct for (& »_\8)?
a) countnents b) continents c) contenints d) continints
YY. Ilive in china, but [ am originally .....................
a) chinese b) Brazilian c) England d) Indonesia
L I OV RPN ? That is b-0-0-K.
a) Can you speak book? b) Does you spell book?
c) How do you spell book? d) Does he spell book?

Y¢, A: What's (028 s3ll)in English?  B: It's

a) program b) pronunciation c) play d) prepare
Yo, “when” is synonym with ............. ?
a) How b) Why c) what days d) which
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